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General Instructions :
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(i)  The question paper comprises two Sections, A and B. You are to attempt both the

sections.

(ii)  All questions are compulsory.
(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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Section — A

amegfeh 37T aroft & fohaft &foet dfthat € 7 7 Uikl R T hEd B 2

How many horizontal rows are there in the modern periodic table ? What are these

rows called ?

SIS 9 <kl @i femar 1 fawg i @ 2

Why is depletion of ozone layer a cause of concern ?

fopefl <t <1 ®1shE gt +25 cm B | 39 ¥ <1 & farfia |

The focal length of a lens is +25 cm. Write the power of this lens.

Y T g HIfTC 36 weifen § qaeede’ (Ye) it ik fohe TR aea— gt 8 7

Describe briefly how regeneration is carried out in Planaria.

[\8)

TR A& 3TR ST SAequni o st faved e areft ol <1 foriwanatt shi arferent

% &9 H T R |

List in tabular form any two distinguishing features between the acquired traits and

the inherited traits.

3T hel o UM h1 TS 1 A Hid H ohE ThR TNTCH L Tehd & ¢ foheal ol U

1 Ui IS |

How can you help in reducing the problem of waste disposal ? Write any two

methods.

= feu e Emfes FefieRton i g i -
(i)  CH;COOH + Na,COy——>

(i) CH;COOH + NaOH ——

(i) CH,;COOC,Hs + NaOH ——
Complete the following chemical equations
(i)  CH;COOH + Na,COy——>

(i) CH;COOH + NaOH ——

(i) CH,;COOC,Hs + NaOH ——

[P.T.O.



TIHTge 3T |G H,SO, 31 IUTRATd & TIElE THT § SATHTsRaT hteh Hig AMHeh s1an

gl

() 39 AT & 1 BT A 3T IHH! 7T T Ieoig iU |

(i) 59 TSR 61 TERIe Fefien frfaw TR s @15 H,SO, 1 qiHeht &1 Ieci@
HITT |

(i) 39 3TffsRan o IcTe 1 1S Tk Iw feflau |

Ethanoic acid reacts with absolute ethanol in the presence of Conc. H,SO, to form a

compound

(1)  Write the smell and class of compounds to which this compound belong.

(i)  Write the chemical equation for the reaction and state the role of Conc. H,SO,
in the reaction.

(i11)) Write one use of the product of this reaction.

it few 7o awa (e=ht 9] wee hisss | & it 8) W foem hifs -
Ca(20); K@19); F@O); Be4)
(a) FHH:

(i) 3| aw S AT e STeray S § U $oiee 2 |

(i) o T M S T TG & | 39 g hl G [ |
(b) T Ca(20) T8 T X(2, 8, 7) % TAN § & A1k 1 3 fARaT |
Consider the following elements (atomic numbers are given in parenthesis)
Ca(20); K@19); F@O); Be4)
(a) Select:

(i)  the element having one electron in the outermost shell

(i) two elements of the same group. Write the number of this group.

(b)  Write the formula of the compound formed by the union of Ca(20) and the
element X (2, 8, 7).

10. I3 T X a1 soidgiieh o= (2, 8, 2) 2, &1 geshi (NO,)™ 3R (SO,)> % €1
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T - 37T TN el B |

(i) T X 9Tg & ST 74Tg ? 39 1SS hl Fhid fARaT |

(i) 7 FTehl o TAN F &4 X’ o ARehi o §F ARG | I TGS AR & AT
T TR 2

An element ‘X’ with electronic configuration (2, 8, 2) combines separately with two

radicals, (NO,)™ and (SO,)*".

(i) Is ‘X’ a metal or a non-metal ? Write the nature of its oxide.

(1))  Write the formula of the compounds of ‘X’ formed by the combination of these
radicals. Are these compounds covalent or electrovalent ?
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11. TSI o ITIHSHI 3T9ed 1 9@ HRYT feTfaw | 3m@ sl dgrrar & ari o feafenm 6
gftereT &t e HIT | 3

State the main cause of atmospheric refraction of light. With the help of a diagram,
explain the phenomenon of twinkling of stars.

12. 39 =Rk & 3 W 1 W fIRET ST 379 G o TR o fIC 390 widl o =9H I
IR HAAT 2 | AlG 37 <81 ol &HAT +0.5 D &, 1 37 i€ shl Bishd gl F1d shiTT | 3
Name the type of defect of vision a person is suffering from, if he uses convex lenses

in his spectacles for the correction of his vision. If the power of the lenses is +0.5 D,
find the focal length of the lenses.

13. = fou Ty 3@ 1 U IR-Yfare WS 3R I TR § e &
TeITd o fohuT o U ol TS : 3

A
@ (ii) (iii)

Draw each of the following diagrams on your answer-sheet and show the path of the
ray after reflection in each case.

W o

@ (i) (iii)

/
<

PR

L

14.  ThTST o 3T9edH 1 Tt 1 (439 Tl | <8 nifvrde &9 ° = hifse | el aem &
Fruer staedTe 3 fata 8 venrer <h =me & o= gy fafEu | 3

State Snell’s law of refraction of light. Express it mathematically. Write the
relationship between absolute refractive index of a medium and speed of light in
vacuum.
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16.

17.

18.
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Ife g1 g TSIl % oTel (TTel) WX o Tiell ohl 3[g TSTTTe o S (JT9Te) HeL o el

& T HHW Y, 0 EH F, F 6 e 6 N 9T F | 379 A 79 F, At &% e 6

ff Hehto U, T EH F, FiEl % Het & N WH A # |

(i) F, Wil dre 4 femm ad 8 2

(i) F, e § Al 3R S el o1 s fafa |

(iii) 3 e b1 e ot ST F) it @ el wie e, g F, et | gever gu | v
B4 1 1T fofau |

If we cross-bred tall (dominant) pea plant with pure-bred dwarf (recessive) pea plant,
we will get plants of F, generation. If we now self-cross the pea plant of F,

generation, we obtain pea plants of F, generation.

(1)  What do the plants of F, generation look like ?

(i) ~ State the ratio of tall plants to dwarf plants in F, generation.

(ii)) State the type of plants not found in F, generation but appeared in F,

generation. Write the reason for the same.

ST 3T TS ? ST 1S Ueh ISTEWT ST | &1 fordief) o 9@ 31K =wTee o i b
THSATA 37 HET ST Hehdl & 7 379 ST o &7 H Rl ST |

What are homologous organs ? Give one example. Can the wings of a butterfly and the
wings of a bat be regarded as homologous ? Give reason in support of your answer.

DNA bl fohel ad & ? $Heh Haw oh1 3cei@ ehivT |

What is DNA copying ? State its importance.

T1ereh wRICy A HeA § Ig SATEAT hi Tob A 98 WohH & e g Sfia 319t Seen |
Jfg A & | TN S e o faw § S1feres SHehrt =mean o | 37 ek weied A
T H 3 WN o fawar 7 off sreen it e sfua araeanf=i & 7 st o9 W) d@=won 8@
THAT 3 |

() edl Sae g aufi o fore o s fawwr /i 8 7

(i) AfTeR TeROT g0 B oTet < Ui oh = forflam |

(iii) TS 3T feres mETed g wefdid Uh-us gou forfia |

The teacher explained in the class that reproduction is the process by which
organisms increase their population. Manoj wanted to know more about the
reproductive-health. Therefore, the teacher also explained in the class about the
diseases that can be transmitted, if proper care is not taken.

(1)  Why is the increasing human population a cause of concern for all of us ?

(i) Name two diseases that can be sexually transmitted.

(ii1)) State one value each displayed by Manoj and his teacher.
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19. (a) WTehiceh TETEHT & TREIUT < Hed H A ITAM, TA: Feh0T TR GH: ITAM el !
ST HIRT |

(b) T T HIRIUT ] AT & 7 fehral T hIUN o Seoid hiaTT | 5

(a) In the context of conservation of natural resources, explain the terms reduce,
recycle and reuse.

(b) Why is conservation of water necessary ? State any four reasons.

20. (a) HH HIEI S o o e feU 7T e W okt v fafau
() IS
(i) AT I
(i) TS
(b) AT I HEEAT 3 T b1 IU HIT | 5

(a)  Write the functions of the following parts in human female reproductive system :

(1) Ovary
(i1) Fallopian tube
(ii1)) Uterus

(b) Describe the structure and functions of placenta.

21. 39 fererg <kt gftamn feifigu | o8 fore g BT 2 7 =amen shifse foh Sitemem forg Temr
TorhT <6 U&1 T T SR hd & 7 5

Define evolution. How does it occur ? Explain how fossils provide evidences in
support of evolution.

22. (a) WqH 3R STEGH BTESIHISH] o sS4 fa¥eT o foTu SiE Tamfes adege foafaw |
(b) VT % I H &1 B W S ATeT TGl o A foRaw | g9 areft srfufsran s
et TR faRay iR famifaa g areflt ol TR &t Swiistt 1 ot
I |
(c) T % b I uff § A i Ty < wner rfufsean fafaw | 38 wfheemm
TSR AT /T ST 3 2 5

(a) Write a chemical test to distinguish between saturated and unsaturated
hydrocarbons.

(b) Name the products formed when ethane burns in air. Write chemical equation
for the reaction showing various types of energies liberated.

(c) Write the reaction between methane and chlorine in the presence of sunlight.
Why is this reaction considered a substitution reaction ?
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24.

25.
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Gl GRT TS o 3TUeH H @R B aTet fm fafau | sreaa g g wfafaes s
T = foTe foptor s Eifae | s Al fdafers < formel &1 srfirereron &1 g=h s |
Toreft STaaet o8 G 3ca MU +0.5 2 | SR R 3G & 7

State the laws that are followed when light is refracted by lenses. Draw a ray diagram
to show formation of image by a concave lens. List any two characteristics of the
image formed. The magnification produced by a concave lens is +0.5. What does this
mean ?

3 TehT¥T 1 TaeH fhdl Shad & ¢ Thdl hid o fH § oA W o= gort <6t fomtor
Tl Ivn W fo=fora o1 g1 STt & 7 Iod JehT™ oh =T 3Ta@al ol G ohid i
farfer <1 =amen hifs |

What is spectrum of white light ? Why do different coloured rays deviate at different
angles on passing through a glass prism ? Explain the method of recombining the
different components of white light.

Qg -9

Section — B

IR BHET A, B, C 3R D 7 = feu 7u fafir= Sfigi o 37T & ag=ai i gusitd 37T 6l
T H @ | W HE AT Y

A THIICE % U@ 3R foae! % 9@

B. S % UG IHR IECS o 7@

C. e h T@ 3R fdef & 1@

D. T, Sa@ 3R fedenc! i 37ETg

(a A (b) B (c) C d D

Four students A, B, C and D listed the following sets of organs of different organisms
as homologous organs. Who was correct ?

A.  wings of a bat and wings of a butterfly

B.  wings of a pigeon and wings of a bat

C. wings of a pigeon and wings of a butterfly
D. forelimbs of a cow, a duck and a lizard

(@ A (b) B (c) C d D



26. T SIS o YUT 1 Y&V Shleh Tohell BT = I8eh 1=l TGT 1T 9T 3h1 A 1S -
SISIUE gR, S 93, WY, SSTavT, JeATg, 37 :ha
39 G 1 T0E Hd W Rieres weiqd A g fewufl 1 o6 570 @ Shaet dH Wi & Yo %
& | 3 o1 o giw -

(a) SISITERET, JATR, Sio=

(b)  3TI:ha, TATH, SISUE GR

(c)  ¥fiSt o, I, Tt

(d) o=, T, SSE

On observing an embryo of a pea seed, a student listed its various parts as given
below :

Micropyle, Cotyledon, Plumule, Testa, Radicle, Tegmen

On examining the list the teacher remarked that out of these only three parts belong to
embryo. Select these three parts :

(a) Testa, Radicle, Cotyledon

(b) Tegmen, Radicle, Micropyle

(c) Cotyledon, Plumule, Radicle

(d) Cotyledon, Plumule, Testa

27. Ig BT THHT & J& I UG T Hihied Hih el feu T srder gaur 1 ®ishd gl
i st =1 SR s T @ | 3 A fou e wifersti 6 @ e W fopw sepr o witfers
frer =nfay 2

HOQ

© (D)
(@ (A (b) (B)
© (© (d (D)

A student is performing the experiment of determining the focal length of a given
concave mirror by focussing a distant tree on a screen. Which one of the following
kinds of images he is likely to obtain on the screen ?

HOQ

© (D)
(@ (A (b) (B)
© (© (d (D)
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forell ©T A 3Tt oW o T | el grey wed w1 Ug W wishiid o foren & | Afg e
forsr % &9 1 it T1 % o 1 A1 7, 1 i feu e 39 foeren 1 gfe forms o wowra
B et wfcfers & et @err few mu g

(a)  JATTEY, Tiem, BT 3T &L T hl

(b) aTEAlh, I, BIST 3T ST TT T

(c) dTdfeeh, 3T1CT, BIT 3T et T 1
(d) IVTE, 32T, BT 3R et T HhT

A student has focussed on the screen a distant building using a convex lens. If he has
selected a blue coloured building as object, select from the following options the one
which gives the correct characteristics of the image formed on the screen.

(a) Virtual, erect, diminished and green shade

(b) Real, inverted, diminished and in violet shade
(c) Real, inverted, diminished and in blue shade
(d) Virtual, inverted, diminished and in blue shade

e few Tu 3T w1 31eE HIRY 3TN 36 feshe w1 g e @) siferd sior few mu d -

(a) Zi, LA, £ZD (b)) 4, Lr, ZD

(c) A, Le, LA (d) ZLr, ZLe, £D

Study the following diagram and select the option having correctly marked angles
A

(a) A, ZA, ZD (b)y A, Lr, ZD
(c) A, Le, ZA (d) ZLr, ZLe, £D
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IR BHET A, B, C 31 D i = guieh wi yrefies seeensti 1 sverr hif
Shid o Told T oA STeft FehTeT fohtur 3T U 3TRREA st < forw atmafaa foror gureft mh
8 | 310 ¥ Tord gaiad g STH 8T ?

(A) (B) © (D)
(@ (A (b) (B)
() (© (d (D) 1

Study the following four experimental setups by four students A, B, C and D showing
the incident ray to trace the path of a ray of light through a glass slab. Which of these
will get the best result ?

(A) (B) ©) D)
(@ (A () (B)
© (© (d (D)
THifeeh 3Tt o Ut O TEfid HE weH g |

(a) 3Eeh! fires St 71 Bt & 3R T8 oo forema oy e s & 2 |

(b) TE AT Afae™ g 3N Aot e hi A HL e 2 |

(c) I8 T fao g 3 AT feferg sl frem s e 8 |

(d) 3Tl Towes SEt e Bt 8 3R T8 il fefcma pr e s et 2 | 1

Select the correct statement about the properties of acetic acid.
(a) It smells like vinegar and turns red litmus to blue.

(b) Itis insoluble in water and turns blue litmus to red.

(c) Itis soluble in water and turns red litmus to blue.

(d) It smells like vinegar and turns blue litmus to red.

3T ITH &1kt H =11 1 e & | AR STITSHT b1 ST i o T 379 39 dd

7 = femn s | rarfes gered fiemd 2

(a) 20% Ca(OH), (b) 20% NaOH

() 30% Mg(OH), (d) 10% Ca(OH), 1
You have neem oil in a beaker. In order to study saponification reaction, which of the

following chemical substances would you add to this oil ?
(a) 20% Ca(OH), (b) 20% NaOH

(¢) 30% Mg(OH), (d 10% Ca(OH),
11 [P.T.O.
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39 IT8 G FigdT o IR iy Saon & faeaqi @ 9w =) gwgHfer™t A, B, C 3D
& | AT NaCl, B¥ CaCl,, CH MgCl, 3fR D H KCI % Seiid foeta W 2 | 3 379 37
AR TGO o fIerai | | o foera &1 a0 AT et 3= wellaitd fgamd, ar
T © fop wEaferal O why (STeereiiet uered) e ghm 2

(a) Ad9dB (by BdEC

(¢ CdID (d Ad9D

You have four test tubes A, B, C and D filled with aqueous solution of same
concentration but of different salts. In A solution of NaCl, B solution of CaCl,,

C solution of MgCl, and D solution of KC/ is filled. If you add equal amounts of a

soap solution to each test tube and shake the contents well, in which of the test tubes
will scum (insoluble substance) be obtained ?

(a) AandB (b) BandC

(¢ CandD (d AandD

rften # fo@ues o 39 fomiy =R o1 TmifeRa @ Wifaw e 36kt e <refiehd &l
ST & 3R Shif¥rent fareeht # wehivi fem@ms e 2 |

Draw a labelled diagram to show that particular stage of binary fission in Amoeba in

which its nucleus elongates and a constriction appears in its cell membrane.

2.0 cm 4TS 1 HI5 o7 10 cm B8 gl % FFEl 3T o8 & T I8 W oE &
TRITNTE g (0) § 20 cm GO R @1 § | 15 3 G0 FAsht S aTel Sfefers 6
feufd, wpfa 3R |Rs 910 & & fou fomwr s difow | wfafaw @1 ass 3R
TRTTTeR <hg & Wfcfarea 3t gt ATTeRt frfia |

An object of height 2.0 cm is placed on the principal axis of a convex lens of focal

length 10 cm. The distance of the object from the optical centre (O) of the lens is
20 cm. Choose a proper scale and draw a ray diagram to find the position, nature and
size of the image. Also measure and write the size of the image and its distance from
the optical centre of the lens.

Ife 319 T 37 hi $S §g 36 T H STel 9 (i) 3TYA S a0l (ii) eI
gISSIS ShIE S Sl STeftd et Wy 8, o 3719 T J301 hidl ? IS Ik gHT Jhton §
T foreft i ot oo1s Srffsman Bt 2, T 38eh 31 HaTuli o g STy |

If you add a few drops of acetic acid to a test tube containing (i) distillated water and

(i) aqueous solution of sodium hydrogen carbonate, what would you observe ? If a
reaction takes place in any one of the above two cases, list its two observations.
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